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“P[1]=800ipsia]

hi1]=h[2]
v[1FVolume{steam_iapws,P=P[1},h=h[1])
Tli]=Temperature(steam_iapws,P=P{1],h=h[1])
X[11=Quality(steam_iapws,P=P[1],h=h{1])
P[2]=5|psia]

T{2j=200[F]

v[2]=Volume(steam_iapws, T=T{2},P=P{2])
h[2]=Enthalpy(steam_iapws, T=T{2],P=P[2}}

Aratio=v[2V[1]

SOLUTION
Unit Seitings: Eng F psia mass deg
Aratio = 147.8

No unit problems were detected.

Arrays Table: Main

by P T v X
[Btusbm] fpsial iF} [fi3fibmj}
1 1149 800 518.3 0.5288 0.9263

2 1149 5 200 78.16
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Pi1]=200|psia]

‘hi1]=h{2]
vi1l=Volume(steam_iapws,P=P[1],h=h[1])
T[1FTemperature(steam_iapws,P=P{1],h=h[1]}
x[1]=Quality(steam_iapws,P=P[1},h=h]1])
P[2)=5]psia)

T{2}=200{F]

v[2]=Volume(steam_iapws, T=T[2],P=P[2])
h[2]=Enthalpy(steam_iapws, T=T[2],P=P}2])

Aratio=vj2]ivi1]

SOLUTION
Unit Settings: Eng F psia mass deg
Aratio = 36.3

No unit problems were detected.

Arrays Table: Main

h P, T; v; %
[Biu/lom] [psia) iF] [f#3/1bm]
1 1149 200 3818 2153 0.8404

2 1149 5 200 78.15



